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SIGNIFICANT FIGURES

Example 8 1

1. Add .

Watch Video Solution

632.73 and 24.082

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nsmZhQLrGQiK


Example 8 2

Example 8 3

1. Subtract 6.235 cm from 8.4 cm.

Watch Video Solution

1. Evalute  and

correct to 3 significant figures.

(8.253 + 6.7289 − 2.334)

https://dl.doubtnut.com/l/_nsmZhQLrGQiK
https://dl.doubtnut.com/l/_gRSQt9K6r3bu
https://dl.doubtnut.com/l/_3N47turD3JjH


Example 8 4

Example 8 5

Watch Video Solution

1. 

Watch Video Solution

3.42 × 3.2

1. 8.635 ÷ 0.25

https://dl.doubtnut.com/l/_3N47turD3JjH
https://dl.doubtnut.com/l/_etLsUoM80pT1
https://dl.doubtnut.com/l/_gTCB5ukuK4LL


Example 8 6

Watch Video Solution

1. A factory manufactured 2678 bolts and this

is approximated to the nearest thousands.

Find 

(a) the absolute error. 

(b) the relative error.

Watch Video Solution

https://dl.doubtnut.com/l/_gTCB5ukuK4LL
https://dl.doubtnut.com/l/_zRz44ItRbCn7


Example 8 7

Example 8 8

1. Number of significant digits of the HCF of

,  and  .

Watch Video Solution

0.5 0.75 1.25 _______

1. There are certain number of students in a

class. This is approximated to nearest

hundreds. Approximate value is 600 and the

https://dl.doubtnut.com/l/_mh1Gx46MYKqa
https://dl.doubtnut.com/l/_6GKqA7DwBgld


absolute error is 25. If exact value is less than

the approximated value, then fond the relative

error. (Correct to two decimal places).

A. 4.36

B. 3.37

C. 4.35

D. 4.34

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6GKqA7DwBgld


Very Short Answer Type Question

1. Number of significant figures in 5.00 is

.

Watch Video Solution

_______

2. Number of significant figures in 7.06 is

.

Watch Video Solution

_________

https://dl.doubtnut.com/l/_NaBQBBkLQyPD
https://dl.doubtnut.com/l/_I54ujPDF0Gz1
https://dl.doubtnut.com/l/_wNYUdHdIQoOM


3. The number of signicant figures in

0.00203040 is .

Watch Video Solution

_______

4. Taking mm as the unit, the number of

significant figures in 5.0 cm is 

Watch Video Solution

_____

5. Taking  as the unit, the number of

significant figures in 1000 is  .

103

_______

https://dl.doubtnut.com/l/_wNYUdHdIQoOM
https://dl.doubtnut.com/l/_mIDD7SR3b8lP
https://dl.doubtnut.com/l/_MB52mdlDzOqe


Watch Video Solution

6. Value of 0.072 correct to 1 significant figure

is .

Watch Video Solution

_______

7. 378.4629 kg approximated to the nearest kg

is .

Watch Video Solution

_______

https://dl.doubtnut.com/l/_MB52mdlDzOqe
https://dl.doubtnut.com/l/_s1IeIWvZuP3c
https://dl.doubtnut.com/l/_qpbfIwiOrffH
https://dl.doubtnut.com/l/_yPRFovVmz1cH


8. 1638 is approximated to the nearest

hundred. 

Absolute error = .

Watch Video Solution

____

9. The difference between exact value and

approximated value is .

Watch Video Solution

_______

https://dl.doubtnut.com/l/_yPRFovVmz1cH
https://dl.doubtnut.com/l/_kKmZtozKoFd5


Short Answer Type Question

10. The ratio of absolute error to the exact

value is .

Watch Video Solution

_______

1. 81.75 when expressed, correct to the nearest

integer would be .

Watch Video Solution

_________

https://dl.doubtnut.com/l/_l2wSXJ6bNw9v
https://dl.doubtnut.com/l/_EBjejSQ3YKPj
https://dl.doubtnut.com/l/_xgoLFP3IQncJ


2. The unit of measurement is cm. If the

measure is 5.00 metres, then find the number

of significant figures in the measurement.

Watch Video Solution

3. The unit of measurement is litre. If the

measure is 4.000 kilolitres, then find the

number of significant figures in the

measurement.

Watch Video Solution

https://dl.doubtnut.com/l/_xgoLFP3IQncJ
https://dl.doubtnut.com/l/_bv3rphUKpsuW


4. Write the value of each of the following,

correct to 4 significant figures. 

(i) 343.92 

(ii) 0.0010829 

(iii) 76.0065

Watch Video Solution

5. The unit of measurement is mm. If the

measure is 4.2 cm, then find the number of

significant figures in he measurement.

https://dl.doubtnut.com/l/_0WXcXZMqXAsQ
https://dl.doubtnut.com/l/_YasXxS5nMXE3


Watch Video Solution

6. 5268.75 when expressed correct to the

nearest thousand would be .

Watch Video Solution

__________

7. Evalute

(i) , correct to four

significant figres. 

(ii)  correct to three

significant figures.

6.02 + 3.7602 − 0.9327

0.529 − 42.78 + 70.062

https://dl.doubtnut.com/l/_YasXxS5nMXE3
https://dl.doubtnut.com/l/_xrAlJ00E37c1
https://dl.doubtnut.com/l/_ts6ligj7dy9H


Watch Video Solution

8. Find the value of  , corresct to two

decimal places. Use this value to evalute  ,

correct to two significant figures.

Watch Video Solution

√5

3

√5

9. Express the fraction  in the form of 

. Also find the expression correct to

three significant figures.

7.566
0.00600

m × 103

https://dl.doubtnut.com/l/_ts6ligj7dy9H
https://dl.doubtnut.com/l/_OHJJxFecMcXI
https://dl.doubtnut.com/l/_xsL6Ix92Uvyz


Level 1

Watch Video Solution

10. By rationalizing the denominator, evalute

 correct to two significant figures.

Given that .

Watch Video Solution

1

3 + √2

√2 = 1.414

https://dl.doubtnut.com/l/_xsL6Ix92Uvyz
https://dl.doubtnut.com/l/_T7Y0JDetqG73


1. The value of  corrected to four

significant figures is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

56.0023

56.00

56.01

56.02

56.03

https://dl.doubtnut.com/l/_3fwBYsZeq8e2
https://dl.doubtnut.com/l/_D6Mv4ZEKTjsR


2. The number of significant figures in 0.00250

is

A. 2

B. 3

C. 6

D. 5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_D6Mv4ZEKTjsR


3. The value of 2.00885 corrected to four

significant figures is .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

________

2.009

2.008

2.010

2.018

https://dl.doubtnut.com/l/_55snlzMi7har
https://dl.doubtnut.com/l/_4F14ySNaJwjK


4. The length of object measured to the

nearest centimetre is 120 cm. If the length is

expressed in mm, then the number of

significant figures is

A. 4

B. 2

C. 3

D. 5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4F14ySNaJwjK


5. Find the sum of the significant digits fo the

LCM of .

A. 7

B. 8

C. 6

D. 9

Answer: D

Watch Video Solution

0.12, 0.18 and 0.24

https://dl.doubtnut.com/l/_4F14ySNaJwjK
https://dl.doubtnut.com/l/_Np6XXc2FA4im


6. Find the sum 

corrected to three significant figures.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.23 + 0.234 + 0.2345

0.697

0.677

0.699

0.688

https://dl.doubtnut.com/l/_zIfnXMQZwhOM
https://dl.doubtnut.com/l/_vac5zR479vv9


7. The value obtained when  rounded off to

five significant figures is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

22

7

_______

3.1427

3.1428

3.1426

3.1429

https://dl.doubtnut.com/l/_vac5zR479vv9


8. If  , then what can be

the posible value of b?

A. `5< b

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

234. a42b6 ≈ 234. a43

5 < b < 10

1 < b < 9

https://dl.doubtnut.com/l/_yNsLZGMR46ZE
https://dl.doubtnut.com/l/_1ghrBOFgk3zt


9. The unit of measurement is one hundredth

of 1 cm. If the measure is 0.09 cm, the number

of significant figures is  .

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

__________

https://dl.doubtnut.com/l/_1ghrBOFgk3zt
https://dl.doubtnut.com/l/_mLwVjyQnzUqC


10. If there are three significant digits in ,

then what are the possible values of a, b and

c?

A. 

B. 

C. Cantnot be determined

D. None of these

Answer: C

Watch Video Solution

0. abc

a < 10, b ≠ 0 and c ≠ 0

a = 0, b = 0 and 0 < c < 10

https://dl.doubtnut.com/l/_mLwVjyQnzUqC


Level 2

1. The number of significant digits of

 is

A. 6

B. 3

C. 50

D. 55

Answer: A

Watch Video Solution

8.65000 × 1050

https://dl.doubtnut.com/l/_Y6WDnyw8j9bD


2. If the number of significant digits of

 is 1, then which of the

following holds good?

A. 

B. 

C. cannot be determined

D. None of these

Answer: B

Watch Video Solution

abc × 10− ( 10 )

a = 0, b ≠ 0, c = 0

a = 0, b = 0 and 0 < c < 10

https://dl.doubtnut.com/l/_Y6WDnyw8j9bD
https://dl.doubtnut.com/l/_hQFejj8jxk0k


3. The number of zeros before the first

significant digit of  is .

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

1

3125
________

https://dl.doubtnut.com/l/_hQFejj8jxk0k
https://dl.doubtnut.com/l/_SxFeYogiHvUl


4. The value of  corrected to four

significant figures is 

A. 

B. 

C. 10.74`

D. 

Answer: A

Watch Video Solution

√115

_________

10.72

10.73

10.75

https://dl.doubtnut.com/l/_SxFeYogiHvUl
https://dl.doubtnut.com/l/_plRFp6TLHukT


5. There are 25425 people in a town. This is

approximated to the nearest thousands.

Calculate the relative error (approximately).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.01 %

0.3 %

1.67 %

2.26 %

https://dl.doubtnut.com/l/_AHYiGpq4cgFn


6. After simplification, the first significant digit

of the fraction  is .

A. 6

B. 7

C. 8

D. 9

Answer: D

Watch Video Solution

0.12345
125

______

https://dl.doubtnut.com/l/_34BmXRc0YLQZ
https://dl.doubtnut.com/l/_3A7yTzKrBzDI


7. A trader weighs 8.99 quintals of iron rods

with the help of kilogram weights. Find the

smallest possible limiting relative error.

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1.1 %

0.11 %

12.5 %

https://dl.doubtnut.com/l/_3A7yTzKrBzDI
https://dl.doubtnut.com/l/_vAvsNX4CC2W3


8. The value of  corrected to three

significant digits is . 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

12

√5 − 1

________ (√5 = 2.2361)

9.71

9.75

9.81

9.85

https://dl.doubtnut.com/l/_vAvsNX4CC2W3


9. The value of  correct to two

significant figures [given that ] is 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

5 − √3

√3 = 1.732

______

0.031

0.30

0.32

0.33

https://dl.doubtnut.com/l/_WVxNTiTONqvD


10. A pole is measured with a scale marked in

centimetres. If the length of the pole is 16.52

m, then find the smallest possible limiting

absolute error.

A. 48 cm

B. 52 cm

C. 2 cm

D. 1 cm

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_D9SntZgGb696


11. Evalute  corrected to two

significant figures.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.768 − 1.876

1.89

1.9

2.89

1.98

https://dl.doubtnut.com/l/_D9SntZgGb696
https://dl.doubtnut.com/l/_oiKpaTFApeyH


12. When a number is approximated to the

nearest hundreds, the approximated value is

600 and absolute error is 24. Then the exact

number is .

A. 64

B. 548

C. 576

D. Either (a) or (c )

Answer: D

_________

https://dl.doubtnut.com/l/_oiKpaTFApeyH
https://dl.doubtnut.com/l/_CgKirCxQKfRK


Watch Video Solution

13. The distance between two places is 2000

km, correct to nearest thousand km. Then

number of significant figures is .

A. 4

B. 3

C. 2

D. 1

Answer: D

_______

https://dl.doubtnut.com/l/_CgKirCxQKfRK
https://dl.doubtnut.com/l/_K255y2CHsM3L


Watch Video Solution

14. The height of a person is  ft, correct to

nearest foot (in integer) then number of

significant figures is .

A. 2

B. 1

C. 3

D. cannot be determined

Answer: B

6.0

________

https://dl.doubtnut.com/l/_K255y2CHsM3L
https://dl.doubtnut.com/l/_VjiC2l57Hyyx


Watch Video Solution

15. Number of significant figures in the square

root of  is .

A. 4

B. 3

C. 2

D. 1

Answer: C

42.25 _________

https://dl.doubtnut.com/l/_VjiC2l57Hyyx
https://dl.doubtnut.com/l/_HYvZVLXE7YH5


Watch Video Solution

16. Evaluate  corrected to four

significant figures.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(0.304)(0.12)

0.03648

0.3648

0.0365

https://dl.doubtnut.com/l/_HYvZVLXE7YH5
https://dl.doubtnut.com/l/_pgG9tc9ICJml


17. Which of the following numbers has two

significant figures?

A. 24

B. 240

C. 2400

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pgG9tc9ICJml
https://dl.doubtnut.com/l/_5P62gRr28zhy


18. The length of a pole is 42.3 m. Find the

number of significant figures, when its length

is expressed in kilometres.

A. 2

B. 3

C. 1

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Z53vbSbQzL4H


19. Number of significant figures in  is

.

A. 1

B. 3

C. 4

D. 2

Answer: D

Watch Video Solution

3.0

______

https://dl.doubtnut.com/l/_fAp9eV9bRjHC
https://dl.doubtnut.com/l/_L3j1zUORbVYA


20. Evaluate  correct to three decimal places.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

7

0.428

0.429

0.431

0.421

https://dl.doubtnut.com/l/_L3j1zUORbVYA


21. Evaluate  correct to four

significant digits (Take ).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

15

√2 − 1

√2 = 1.414

32.63

32.36

36.23

36.32

https://dl.doubtnut.com/l/_N9bREY2ifIp7
https://dl.doubtnut.com/l/_f9ns7mW8VMdW


22. Evaluate  correct to three significant

digits.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√80

8.944

8.94

8.95

8.945

https://dl.doubtnut.com/l/_f9ns7mW8VMdW


23. After simplification, numbers of zeroes

before first significant digit of  is 

.

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

( )
0.03125

25

_______

https://dl.doubtnut.com/l/_BJrez9BinZPi


24. The distance between two places is

measured with a scale marked in metres. If the

distance is  m, then find the number of

significant digts in it.

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

2.013

https://dl.doubtnut.com/l/_iajQiSnR7nYq


25. There are certain number of students in a

class. This is approximated to nearest

hundreds. Approximate value is 600 and the

absolute error is 25. If exact value is less than

the approximated value, then fond the relative

error. (Correct to two decimal places).

A. 

B. 

C. 

4 %

4.5 %

5 %

https://dl.doubtnut.com/l/_iajQiSnR7nYq
https://dl.doubtnut.com/l/_lH81fOerbvOY


D. 

Answer: A

Watch Video Solution

5.5 %

26. Evaluate  correct to one

significant digit 

(Take ).

A. 

B. 

1

3 + √7

√7 = 2.646

0.2

0.1

https://dl.doubtnut.com/l/_lH81fOerbvOY
https://dl.doubtnut.com/l/_Ead8irPZMFaM


C. 

D. 

Answer: A

Watch Video Solution

0.3

0.02

27. Evaluate  correct to four

significant figures.

A. 

B. 

2.304 × 23.05

53.1072

53.11

https://dl.doubtnut.com/l/_Ead8irPZMFaM
https://dl.doubtnut.com/l/_PXcxys754bKc


C. 

D. 

Answer: B

Watch Video Solution

53.1172

53.12

28. If number of significant digits of  is

3, then which of the following is true? (where a

is whole number)

A. a=0

a × 3a

https://dl.doubtnut.com/l/_PXcxys754bKc
https://dl.doubtnut.com/l/_BfJtCREyO2po


B. 

C. 

D. 

Answer: D

Watch Video Solution

0 ≤ a ≤ 9

0 < a < 9

0 < a ≤ 9

https://dl.doubtnut.com/l/_BfJtCREyO2po

